HPC Quiz 5.1-5.3 Review Name:

Simplify the following.

1. sin @ tan 8 secd 2. (1 —sin®)(1 + cscB)(sinH)
cos20 sin 0 cos @
3. ——— — (secB)(cos b 4.
1+ siné ( )( ) csch sec@
tanZ0 6 tan 6 1+ sech
1 + tan26 ) 1+ sech tan 6

tan 6—sin 6 cos @

sin26




Verify the following.

1

8. tan @ cos @ = sin @ 9. ———— =sinf cosO
tan 6 + cot @
sin 6 cos @ csc20 2
10. csch sech 11. cot?6 1 =tan"¢
1—-cosf sin @ 1—-cosf
12. _ - =0 13. ——— = (csch — coth)?
sin @ 1+ cosf 1+ cosf
. 2 . cos @
14. (sin® — cos0)* + 2sinfcosH =1 15. sec) — ———=tanb
1+siné
2 2
16. - = 4sec?0

sinf +1 sinf —1



Solve for 0 < 6 < 2m. Round to the nearest hundredth when necessary.

17. 2tan?6 —3secf +3 =0 18. sind = V3 —sin#
19. sin%0 + 2 cos@ =2 20. 2sin30 — sin%6 —2sinf+1=0
21. 2c0s%60 — cos@ = 2 —secH 22. csc?0 — 2cscO = 2 — 4sin 0

23. 1—csc?0 = -3 24. 2sin20 —1=0



Solve for 0 < 6 < 2m. Round to the nearest hundredth when necessary.

25. 4sin20 —1=0
27. 2sin?36 —1 =10
Answers:

1. tan?6 2. cos?6
7. tan @ 17. O
22. 5t m 3m 5T 7m

26.

19. Om

24, —

27.

tan?20 —1=0
5. —cos?6
20 %, &

57 13w 17w

— 25. 0.125, 1.45, 3.265, 4.59

12’ 12’ 12

m 5m 7m 3m
12’ 4’ 12’ 127 4’



